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1 The word ‘entrepreneur’ has been taken from the ------------- language. (c)
(a)Indian (b) British (c) French (d) Latin

2 | - was the first introduced the term ‘entrepreneur’. (b)
(a)Benjamin (b)Richard Cantillon (c) Kerry (d)Kelvin

3 Who is the author of ‘Theory of Economic Development’ book ? (a)
(a)Joseph A. Schumpeter (b) Richard Cantillon (c) Lord Kelvin (d) Newton

4 | e is well-known name of successful entrepreneur in the country. (a)
(a)Birla (b)Sachin (c)Amitabh (d)Sania

5 Willingness to ----------- distinguishes a successful entrepreneur from unsuccessful one. (c)

(a) No work (b) work (c)hard work (d)lazy

6 The entrepreneurs have a good ---------- to know about future business environment.(a) | (b)
silent (b) foresight  (c) quickly (d)non of them

7 Production is meant ------------ the customers’ requirements. (c)
(a)to buy (b)to purchase (c) to meet (d) to sell

8 The research institutes / centers established by -------- is example of the innovative | (a)
activities taken by the successful entrepreneurs in our country.
(a)Kirloskar (b) Bhutiya (c) Kohali (d) Amitabh bacchan

9 Status- An entrepreneur is the --------- of the enterprise. (a)
(a)owner (b)outsider (c) trust (d) non of them

10 | A-—--—-m- is the servant in the enterprise owned by the entrepreneur. (c)
(a)peon (b) employee (c) manager (d) non

11 | A as a servant does not bear any risk involved in the enterprise. (a)
(a)manager (b)peon (c) employee (d)non

12 | - are those entrepreneurs who start/carry on an enterprise as a joint venture. (b)
(a) Solo operators (b) Active partners (c)inventors (d)Challengers

13 Entrepreneurs who only contribute funds to the enterprise but do not actively participate | (b)
in business activity are called simply ------- .
(a) operators (b) partners (c)Inventors (d)Challengers

14 | An entrepreneur operates from -------- . (b)
(a) in-side (b)out-side (c)indoor  (d) out door




15 | The ------ proverb applies to him: “Fall seven times, stand up eight.” (c)
(a)Chinese (b)Indian (c) Japanese (d) American

16 | ---------- , the founder of the Ford Motor Company in the United States. (a)
(a) Henry Ford (b) Suzuki (c) tata (d) Henry ferade

17 | Lipton offers its tea in small packs known as ------- . (c)
(a)Padika (b)small beg  (c) pudiyas (d)other

18 | -—--—--- was the first Indian to think of setting up the textile manufacturing on the modern | (a)
factory lines.
(a) Ranchodlal Chotalal (b)Jamsedaji Tata (c)Nawrosjee Wadia (d)Other

19 | The Government came forward with the first industrial policy, ------ which was revised | (b)
from time to time.
(a)1947 (b)1948 (c)1949  (d)1950

20 | - , the president of Sony Company (c)
(a) Walkman (b) Suzuki (c)Akio Morita (d) Akio sung

21 | - was owner of T-series company. (a)
(a) Gulshan Kumar  (b)Manojkumar (c) Deep Rathod (d)Rajkumar

22 | I have a strong desire ------- social interaction (a)
(a)for (b) with (c)about (d) to

23 | have my plan --------- ten years. (b)

(a) with (b) for (c) to (d) todo

24 | | keep my income ---------- consideration. (c)
(a)to (b) for (c) into (d) with

25 | I do not depend on others --------- directions. (a)
(a) for (b) with (c)into (d) to

26 | Ithink over how ------------- my working. (b)

(@) improve  (b)to improve (c)improved (d) improves

27 | I like to work ----------- others. (c)
(a)for (b)to (c) with (d)into

28 | Ilike -------—-- my own boss. (a)
(a) to be (b) to (c)todo (d) with

29 | I am not good at tackling --------- several problems at a time. (b)
(a)for (b) with (c) to (d) into

30 | Kakinada is an industrial town in -------------- . (c)
(a)Gujarat (b) Rajasthan (c) Andhra Pradesh (d) Kerala

31 | TAT full name is ------------- . (a)
(a)Thematic Appreciation Test (b) Teacher Appreciation Test
(c) Teacher Entrance Test (d) Thermal Active Test.

32 | The National Small Industries Corporation Ltd. (NSIC), an enterprise under the Union | (b)
Ministry of Industries, was set up in--------- .
(a) 1950 (b) 1955 (c) 1960 (d) 1965

33 | SSIB, full name is ------------- (c)




(a) State Small Scale Industries Board (b)State Size Scale Industries
(c)Small Scale Industries Board (d) Small State India Bank

Board

34 | How many members in SSIB? (d)
(a) 40 (b) 45 (c) 55 (d) 50

35 | DICs, full name is ------------- (d)
(a) Direct Industries Centers (b) Dual Industries Centers
(c)District Industries Care (d) District Industries Centers

36 | DICs was started on ----------- . (c)
(a) 1958 (b) 1968 (c) 1978 (d) 1988

37 | IPR, full name is ------------- (a)
(a)Industrial Policy Resolution  (b) Indian Policy Resolution
(c) Indian Pinal Resolution (d)Industrial Policy Revise

38 | The Government of India adopted a new Industrial Policy Resolution ( IPR) in ---. (b)
(a) 1960 (b)1980 (c)1970 (d) 1990

39 | NEF, full name is ------------- (c)
(a)New Equity Fund (b) New Employee Fund
(c) National Equity Fund (d) National Equal Fund

40 | RBI, full name is ------------ . (d)
(a)Reverse Bank of Indonesia (b) Roll Bank of India
(c) Reserve Bunch of India (d) Reserve bank of India

41 | Leadershipisa --------- process. (c)
(a) parttime (b) fulltime (c) continuous (d) temporary

42 has identified that leadership differs from management in terms. (a)
(a)John Kotter (b) John Kennedy (c) John (d) Michel

43 Leadership focuses on the top line, management focuses on the line. (b)
(a) top (b) bottom (c) middle (d) side

44 is an important factor for making any type of organizations successful. (c)
(a) Boss (b) Peon (c) Leadership (d) clerk

45 | Charismatic leadership theory called . (c)
(a) Great women theory (b) women theory (c)great man theory (d) man theory

46 | Charismaisa word meaning gift. (a)
(a) Greek (b) Latin (c) Indian (d) English

47 | A successful leader knows how to effectively. (b)

(a) meet (b) communicate (c) talk (d) discuss
48 | A successful leader has skills. (c)
(a) public (b) personal (c)social (d) communication

49 | A successful leader should have adequate knowledge of . (d)
(a) women relations (b) man relations (c)public relations (d)human relations

50 society is generally considered to be a traditional one. (a)

(a) Indian  (b) Public (c) Ganga (d) Human
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Unit-1

Question Bank - 6 marks

No. | Question Ans.
1 | Write evolution of the concept of an Entrepreneur. Page-1
2 | Short Note on Characteristics of an Entrepreneur. Page-3
3 | Short note on growth of entrepreneurship in India. Page-9
4 | What is motivation? Write motivation theories. Page-17
5 | Short note on role of entrepreneurship in economic development. Page-13
Question Bank - 5 marks
No. | Question Ans.
1 | Write distinction between an Entrepreneur and a Manager Page-4
2 | Discuss abut types of Entrepreneurs. Page-5
3 | Write ten points of role of entrepreneurship in economic development Page-16
4 | What are the factors of motivation? Page-19
5 | Write note on entrepreneurship during post-independence. Page-12
Unit-2
Question Bank - 6 marks
No. | Question Ans.
1 | Write note on SIDO. Page-3
2 | Explain Government policy for small scale enterprises. Page-6
3 | Write a concept of industrial sickness. Page-10
4 | Short note on magnitude of industrial sickness. Page-14
5 | Write causes and consequences of industrial sickness. Page-18
Question Bank - 5 marks
No. | Question Ans.
1 | Short note on Kakinada experiment. Page-2
2 | Short note on NSIC. Page-3
3 | Short note on New small enterprise policy 1991. Page-9
4 | Draw a path to industrial sickness. Page-12
5 | Write a signal of industrial sickness. Page-12




